106Midterm2grading scheme(Sem1-40/41)

Questionla) y=(1+ 8x2)xi2
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22 = limx_,o m = g (1, 5)

lim,_q Iny = lim,_,,

Solim,_,y =e® (0,5)

b) [e**sinxdx = i—e“xsinx - ife“xcosxdx (1)

— l 4x - _l l 4x l 4x L

=-e sindx " (48 cosx + 4f e*sinxdx) (1)
Thus [ e**sindxdx = 1—1734x(4sinx —cosx) + C (1)

¢) [(sinx)?(cosx)?dx = %f(sian)zdx = %f(l — cos4x)dx (2)

=-(x-2)+c (1)
Question2 a) [ dx =5 [(tan§)%d6 x = 5sech (1)

= 5(tanf — 0) + C (1)
=Vx2 — 25— 5sec”? (g) +C (1)
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Thus fo T converges and is equal to " (0.5)
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